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SANSKRIT (Elective)

laLÑre~ ¼,sfPNde~½laLÑre~ ¼,sfPNde~½laLÑre~ ¼,sfPNde~½laLÑre~ ¼,sfPNde~½laLÑre~ ¼,sfPNde~½

Time allowed : 3 hours ]  [ Maximum marks: 100

fu/kkZfjr le; % 3 ?k.Vs ] [  vf/kdre vad % 100

Roll No.

Series SHC/1 Code No. 49/1
Candidates must write the Code on
the title page of the answer-book.jksy ua-

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

fo|kFkhZ mÙkj&iqfLrdk esa dksM ua- vo';
fy[ksA

Please check that this question paper contains 12 printed pages.

Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

Please check that this question paper contains 12 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 12 gSaA

iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 12 iz'u gSaA

Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aAÑi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ks aA

funs Z'kk%  %funsZ'kk%  %funsZ'kk%  %funsZ'kk%  %funsZ'kk%  % losZ iz'uk% laLÑrsuSo mÙkj.kh;k%A

lHkh iz'uksa ds mÙkj laLÑr esa nsaA

Answer should be given in Sanskrit only.

mÙkjkf.k i`Fkd~ nÙkk;ke~ mÙkjiqfLrdk;ke~ ,o ys[kuh;kfuA

lHkh mÙkj vyx nh xbZ mÙkj&iqfLrdk esa fy[ksaA

Answer should be written only in the separate answer-book

provided.

vfLeu~ iz'ui=ks pRokj%pRokj%pRokj%pRokj%pRokj% [k.Mk% lfUrA
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bl iz'u&i=k esa pkjpkjpkjpkjpkj [k.M gSaA

There are four sections in this questions paper.

[k.M% d vifBrka'k & vocks/kue~ ¼vifBrka'k & vocks/ku½ 15 vøk%

SECTION A (Unseen Reading Comprehension)

[k.M% [k jpukRedys[kue~ ¼jpukRed ys[ku½ 20 vøk%

SECTION B (Writing Skills)

[k.M% x ifBrka'k & vocks/kue~ ¼ifBrka'k & vocks/ku½ 45 vøk%

SECTION C (Reading Comprehension)

[k.M% ?k NUnks·yøkjk% ¼NUn ,oa vyøkj½ 20 vøk%

SECTION D (Chhanda and Alankaras)

[k.M% ¼d½[k.M% ¼d½[k.M% ¼d½[k.M% ¼d½[k.M% ¼d½

vifBrka'k & vocks/kue~vifBrka'k & vocks/kue~vifBrka'k & vocks/kue~vifBrka'k & vocks/kue~vifBrka'k & vocks/kue~

vifBrka'k & vocks/kuvifBrka'k & vocks/kuvifBrka'k & vocks/kuvifBrka'k & vocks/kuvifBrka'k & vocks/ku

Section (A)

Unseen Reading Comprehension 5+10=15

1. v/kskfyf[kre~ vuqPNsn};a ifBRok iz'uku~ laLd`rsu mÙkjr %

v/kksfyf[kr nksuksa vuqPNsnksa dks i<+dj iz'uksa ds mÙkj laLÑr esa nhft, %
Read the following two passage and answer the questions in Sanskrit :

¼d½ izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%izFke% vuqPNsn%

,dnk ,dfLeu~ fo'kky{ks=ks fLFkr% ,d%fof{kIr% tu% egrka lrka fopkjku~ ^vJ`.kksr~&lRlaxs

lekIrs l rr% mRFkk; vxPNr~A ,dnk mifn'ku~ egkiq#"k% ra fof{kIr xHkhj;k n`'kk lrre~
vi';r~A rr% l ra Jksrkja r=kSo fLFkra izR;ga n`"Voku~A ,dnk egkiq#"k% ra r=k u
voyksfdroku~A rr% egkiq:"k% vkdqy%l×tkr%A ds"kkf×on~ fnolkuke~ vuUraj l r=kSo
vkxR; vfr"Br~A lRlaxkuUrja l egkiq#"kLreqixE; vi`PNr~&,rkofUr fnukfu dq=k xr%
vklhn~ Hkoku~\ fof{kIr% mÙkja nÙkoku~] Hkxork lg okÙkkZ% drqZa] Hkor% p HkDrku~ nz"Vqe~
vge~ br% vU;yksda xroku~A

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjrA
,d 'kCn esa mÙkj nhft,A
Answer in one word . ½×2=1
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(i) fof{kIr% dhn`'ks {ks=ks fLFkr%\

(ii) fof{kIr% ds"kka fopkjku~ vJ`.kksr~\ ½×2=1

¼c½ iw.kZokD;su mÙkjrA

iw.kZ okD; esa mÙkj nhft,A

Answer in a complete sentence. 2

vkxR; fof{kIr% egkiq#"ka fda mÙkje~ v;PNr~\

¼l½ ;FkkfunsZ'ke~ mÙkjra

;FkkfunsZ'k mÙkj nhft,A

Answer as directed.

(i) ^fof{kIr%tu%* vu;ks% fda fo'ks"k.ke~\

(ii) ^dq=k xr% vklhn~ Hkoku~* v=k drZ̀ina fde~\

(iii) ^vuUrja r=kSo vkxR; vfr"Br~* v=k fØ;kina fde~\

(iv) ^Hkxork lg okrkZ% drqZe~* v=k ^lg* ;ksxs dk foHkfDr%\ ½×4=2

¼[k½ f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%f}rh;% vuqPNsn%

;nk dnkfi dks·fi vLekda cU/kq% :X.kks Hkofr o;a rL; lqLokLF;L; dkeuka dqeZ%A vLeklq

dsfpr~ izkFkZu;k fØ;ek.ke~ mipkja LohdqoZfUr dsfpPp uA v|Ros foKkfuu% fpfdRldk'pkfi

izkFkZuk'kkfDra LohdrqZeqRlqdk% fo|UrsA xHkhjL; vuqlU/kkuL; ,"k% ifj.kke% vkxr% ;n~

/keZlqLokLF;;kseZ/;s·fLr df'pRlEcU/k%\ vusu izkFkZuk nSfudewY;kfu 'kkjhfjdekufldjksxku~

p uk'kf;rqa {kers] thouL; xq.koÙkkefi p izHkko;frA

v|Ros o;a izk;'k% losZ"kq fpfdRlky;s"kq mipkjx`gs"kq izkFkZukd{kefi fufeZreoyksd;ke%A

;r% fpfdRldk% eUrqekjsfHkjs ;r~ 'kkUrkoLFkk;ka efLr"da jpukReda HkofrA ;nk thoua

thforqdke% psruklEiUuks tk;rs rnk lE;³~fu.kZZsrqqa izHkofr l%A

vusds fpfdRldk vkS"k/ki=ks fyf[krqekjC/kk %&

^^vga fpfdRlka fon/kkfe LoLFka rq djksfr ijes'oj ,oA**

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjrA
,d 'kCn esa mÙkj nhft,A
Answer in one word.

(i) o;a dL; lqLokLF;L; dkeuka dqeZ%\

(ii) izkFkZuk thouL; dka izHkko;fr\ 1×2=2
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¼vk½ iw.kZokD;su mÙkjrA
iw.kZ okD; esa mÙkj nhft,A
Answer in a complete sentence.

xHkhjL; vuqlU/kkuL; d% ifj.kke% vkxr%\ 2

¼b½ ;FkkfunsZ'ke~ mÙkjrA

;FkkfunsZ'k mÙkj nhft,A

Answer as directed.

(i) ^cU/kq% #X.kks Hkofr* v=k fo'ks"k.kina fde~\

(ii) ^dsfpr~ mipkja LohdqoZfUr* v=k f+Ø;kina fde~\

(iii) ^djksfr* vL; lekukFkZdfØ;k dk\

(iv) ^leFkksZ Hkofr* vL; LFkkus dk fØ;k iz;qDrk\ 1×4=4

¼bZ½ vL; x|ka'kL; d̀rs leqfpra 'kh"kZda fy[krA 2

[k.M% ¼[k½[k.M% ¼[k½[k.M% ¼[k½[k.M% ¼[k½[k.M% ¼[k½

jpukRedys[kue~jpukRedys[kue~jpukRedys[kue~jpukRedys[kue~jpukRedys[kue~

jpukRed ys[kujpukRed ys[kujpukRed ys[kujpukRed ys[kujpukRed ys[ku

Section (B)
Writing Skills 20

2. e×tw"kkr% mfprløsrku~ /k`Rok v/kksfyf[krka dFkka iqu% fy[kr&

e×tw"kk ls mfpr løsr ysdj fuEufyf[kr dFkk dks iqu% fyf[k,&

Rewrite the following story after filling it with the words given in the box below :

,dnk egkjkt%f'kojkt%f'kfojs Lolsukifra izR;S{krA rnSo gLrs ,da xzUFka /kkj;u~ ek/kojkt% lsukifr%

f'kojkta leqikxPNr~A rRi`"Br% ,da efgykokguefi (1) _______________A lsukifr%

(2) __________ f'kojkta U;osn;r~ egkjkt ! (3) __________ rq lqnwja (4) __________

ojkd% u`i% cgyksy% (5) ___________________________ jf{kRok iykf;r%A rnk f'kojkt%

(6) __________ izfr n`"V~ok vi`PNr~ fdfene~\ lsukifr% mokp vfLeu~ (7) __________

vIljLlek cgyksyjkKh xkSgjukEuhA ;k [kqy fot;fJ;% (8) ___________________ izsf"krkA

bna pkfLr ifo=ka dqjkuxzUFke~A v/kquk }kS (9) _________________ izfr'kks/ka u;rq Hkoku~A

f'kojkt% xzUFka rq izk.ker~] jkK~;k% lehieqixR; vonr~& (10) vgks!  __________________

lqUnjh HkorhA bZ'ojd`i;k dnkfpn~ vga HkoRiq=ka Hkforqa ;fr";s**A
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e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

vkLrs] lizlkne~] vkuhre~] ijkLrk] eqxylsuk] efgykokgue~]

      migkjs.k] voeR;] fd;rh] izk.kku~A 1×10=10

3. e×tw"kkr% inkfu uhRok ^tyleL;k;k% lek/kkue~* bfr fo"k;s laLd̀rsu n'k okD;kfu fy[kr&

e×tw"kk ls inksa dks ysdj ^ty leL;k dk lek/kku* bl fo"k; ij laLÑr esa nl okD; fyf[k, %

Write ten sentences in Sanskrit on the 'Problem of Water', taking words from the
box given below :

e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

izkÑfrdk vkink] le;s le;s] o`"Vs% vHkko%] xzkes"kq uxjs"kq xÙkkZuka tyk'k;kuka

          fuekZ.ke~] fo'kkys"kq Hkous"kq tylap;%] o"kkZtyL; HkwekS izs"k.ke~]

          fofo/kkuka lzksrlke~ vUos"k.ke~] loZdkjs.k ns'kh;unhuka esyue~A 1×10=10

[k.M% ¼x½[k.M% ¼x½[k.M% ¼x½[k.M% ¼x½[k.M% ¼x½
ifBrka'k & vocks/kue~ifBrka'k & vocks/kue~ifBrka'k & vocks/kue~ifBrka'k & vocks/kue~ifBrka'k & vocks/kue~
ifBrka'k & vocks/kuifBrka'k & vocks/kuifBrka'k & vocks/kuifBrka'k & vocks/kuifBrka'k & vocks/ku

Section (C)
Reading Comprehension 45

4. v/kksfyf[kra x|ka'ka] i|ka'ka] ukV~;ka'ka p ifBRok iznÙkiz'uku~ ;FkkfunsZ'ka laLd`rsu mÙkjr&

fuEufyf[kr x|ka'k] i|ka'k rFkk ukV~;ka'k dks i<+dj fn, x, iz'uksa ds mÙkj ;FkkfunsZ'k laLÑr esa mÙkj
nhft,&

Read the following prose, poetry and drama passage and answer the questions in
Sanskrit :

¼d½ x|ka'k%x|ka'k%x|ka'k%x|ka'k%x|ka'k%

;kSoukjEHks p izk;% 'kkL=ktyiz{kkyufueZykfi dkyq";eqi;kfr cqf)%A bfUnz;gfj.kgkfj.kh p

lrrnqjUrs;eqiHkksxe`xr`f".kdkA xq:ins'k'p uke iq:"kk.kkef[kyeyiz{kkyu{keetya Lukue~A

fojyk fg rs"kkeqins"Vkj%A

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjrA
,d 'kCn esa mÙkj nhft,A
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Answer in one word.

(i) dk dkyq";e~ mi;kfr\

(ii) e`xr`".kka da gjfr\ ½×2=1

¼vk½ iw.kZokD;su mÙkjrA
iw.kZ okD; esa mÙkj nhft,A
Answer in a complete sentence.

xq:ins'k% dhn`'ka Lukue~ vfLr\ 2

¼b½ ;FkkfunsZ'keqÙkjrA

funsZ'kkuqlkj mÙkj nhft,A

Answer as directed :

(i) ^ldy* vL; 'kCnL; d% i;kZ;% v=k iz;qDr%\

(ii) ^vleFkZe~* vL; fda foykseine~ v=k iz;qDre~\ 1+1=2

¼[k½ i|e~i|e~i|e~i|e~i|e~

ikikfUuokj;fr ;kst;rs fgrk;

xqáa fuxwgfr xq.kku~ izdVhdjksfrA

vkin~xra p u tgkfr nnkfr dkys

lfUe=ky{k.kfena izonfUr lUr%AA

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjrA

,d 'kCn esa mÙkj nhft,A

Answer in one word.

(i) lUr% dL; y{k.ka izonfUr\

(ii) xq.kkuka izdVhdj.ka dL; dÙkZO;e~\ ½×2=1

¼vk½ iw.kZokD;su mÙkjrA

iw.kZ okD; esa mÙkj nhft,A

Answer in a complete sentence.

vkin~xra dkys fde~ u tgkfr\ 2

¼b½ ;FkkfunZs'keqÙkjrA

funsZ'kkuqlkj mÙkj nhft,A
Answer as directed :
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(i) vkin~xra u tgkfr] v=k fØ;kina fde~\

(ii) ^lUr% y{k.ka izonfUr* v=k drZ̀ina fde~\ 1×2=2

¼x½ ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%ukV~;ka'k%

v#U/krhtudkSv#U/krhtudkSv#U/krhtudkSv#U/krhtudkSv#U/krhtudkS & egRdkSrqda oRlL;A

dkSlY;kdkSlY;kdkSlY;kdkSlY;kdkSlY;k & vj.;xHkSZ#iykiS;wZ;a rksf"krk o;a pA

Hkxofr ! tkukfe ra i';Urh of×prso

rLekfnrks·U;rks HkwRok isz{kkegs rkor~

iyk;ekua nh?kkZ;q"ke~A

v#U/krhv#U/krhv#U/krhv#U/krhv#U/krh & vfrtosu nwjefrØkUr% l piy% dFka n`';rs\

cVo%cVo%cVo%cVo%cVo% & i';rq dqekjLrkonk'p;Ze~A

iz'uk%iz'uk%iz'uk%iz'uk%iz'uk%

¼v½ ,dinsu mÙkjrA

,d 'kCn esa mÙkj nhft,A

Answer in one word.

(i) dL; dkSrqda orZrs\

(ii) dk of×prk\ ½×2=1

¼vk½ iw.kZokD;su mÙkjrA

iw.kZ okD; esa mÙkj nhft,A

Answer in a complete sentence.

iyk;ekua da ds izs{kUrs\ 2

¼b½ ;FkkfunsZ'keqÙkjrA

;FkkfunsZ'k mÙkj nhft, %

Answer as directed.

(i) ^/kkoUre~* bR;FksZ fda ine=k iz;qDre~\

(ii) ^jksf"krk%* vL; fda foykseine=k iz;qDre~\ 1+1=2

5. js[kkførinL; 'kq}eFkZa iznÙksH;ks·FksZH;% fpRok fy[kr&

js[kkafdr in dk 'kq) vFkZ fn, x, vFkks± ls pqudj fyf[k,&

Write the correct meaning of the underlined words from the given ones :
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¼i½ eLrq lkSohjpØor~A

¼d½ yo.ke~ ¼[k½ nf/ktye~ ¼x½ nqX/ke~A

¼ii½ dqEHkL; pw.kZa l{kkSnze~A

¼d½ dy'kL; ¼[k½ dqEHkjk'ks% ¼x½ xqXxqyL;A

¼iii ½ iq"djkog~oe~ 'kVha d`".kke~A

¼d½ d`".kxke~ ¼[k½ ';keke~ ¼x½ fiIiyhe~A

¼iv½ uhfyuha fupqya O;ks"ke~A

¼d½ f=kQyk ¼[k½ b{kq=k;e~ ¼x½ 'kq.BhejhpfiIiY;%A ½×4=2

6. js[kkførinkfu vk/k`R; iz'ufuekZ.ka dq:r %

js[kkfør 'kCnksa ij vk/kkfjr iz'u&fuekZ.k dhft, %

Frame questions based on the underlined words :

(i) vfHk"ksdksÙkh.kkZ; dk';ik; ouLifrlsoke~A

(ii) vfrxgua re% ;kSouizHkoe~A

(iii) e;k d`ra liZeku;rkA

(iv) oRlk;k% eq[kpUnzs.kkfi laonfrA 1×4=4

7. v/kksfyf[krHkkokFkZ;ks% fjäLFkkuiwfrZ% e×tw"kkinlgk;r;k dj.kh;k&

fuEufyf[kr HkkokFkks± esa e×tw"kk esa fn, x, 'kCnksa ls fjäLFkkuiwfrZ dhft,&

Fill in the blanks of the central ideas from the words given in the box below :

(i) ly{e.kk; jkek; eqfufoZu;'kkfyusA
fo)ka cykefrcykeL=kk.;qifn"Voku~AA

HkkokFkZ%

lqcks/kjkepfjrukfez dkO;s ysf[kdk fy[kfr&

eqfu% fo'okfe=k% _______________ jkek; ________________ 'kL=kf'k{kke~

_________ vL=kkf.k p ,o f'kf{kroku~ ;su l dnkfi ijkftr% u L;kr~A

(ii) nkua Hkksxks uk'kfLrlzks xr;ks HkofUr foÙkL;A
;ks u nnkfr u Hkq³~Drs rL; r`rh;k xfrHkZofrAA

HkkokFkZ%

HkrZ̀gfj.kk /kuL; _______________ f=kfo/kk% izdkjk% dfFkrk% _______________
vFkok Lo;a lq[kizkfIr% _______________ rq /kua u"Veso L;kr~A
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e×tw"kke×tw"kke×tw"kke×tw"kke×tw"kk

dLeSfpn~ nkue~] f=kfo/kke~] fouhrk;] mi;ksxk;] vU;Fkk] lokZf.kA 3+3=6

8. v/kksfyf[krkUo;;ks% fjDrLFkkuiwfr± dq#r&

fuEufyf[kr 'yksdksa ds vUo;ksa esa fjDr LFkkuksa dh iwfr± dhft,&

Fill in the blanks in the following prose order rendering :

(i) fo|ka pkfo|ka p ;Lrn~osnksHk;a lgA

vfo|;k e`R;qa rhRokZ fo|;k·e`re'uqrsAA

vUo;%vUo;%vUo;%vUo;%vUo;%

fo|ka p _______________________ p ;% ________________________

rr~ _________ osnA vfo|;k e`R;qa rhRokZ fo|;k ve`re~ v'uqrsAA

(ii) u fg df'pR{k.kefi tkrq fr"BR;deZd`r~A

dk;Zrs áo'k% deZ loZ% izd`frtSxqZ.kS%AA

vUo;%vUo;%vUo;%vUo;%vUo;%

tkrq ___________________ {k.ke~ vfi _________________ u fr"Bfr] fg loZ%

____________ izÑfrtS% xq.kS% deZ dk;ZrsAA 1½×1½=3

9. ;FkkfunsZ'ke~ mÙkjr&

;FkkfunsZ'k mÙkj nhft,&

Answer as directed.

¼v½ dr`Zina fpuqrA

drkZ pqfu,A

Select the subject.

(i) ;ks ;n~ oifr chte~A

(ii) 'kdqUryk ozhM+ka :i;frA 2

¼vk½ fo'ks";a fpuqr %

fo'ks"; pqfu, %

Select the qualifying noun :
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(i) vu'uéU;ks·fHkpkd'khfrA

(ii) deZ ijekizksfr iw#"k%A 2

¼b½ ^Hkks xúnÙk! u lE;xfHkfgra Ro;k* v=k ^Ro;k* bfr loZukeina dLeS iz;qäe~\

^Hkks xúnÙk! u lE;xfHkfgra Ro;k* ;gka ^Ro;k* loZuke in fdl ds fy, iz;qä gS \

^Hkks xúnÙk! u lE;xfHkfgra Ro;k* In this sentences

for whom  ̂Ro;k* pronoun is employed ? 2

¼bZ½ v/kksfyf[krin;ks% i;kZ;kS ys[;kS&

fuEufyf[kr inksa ds i;kZ; fyf[k,&

Write the synonyms of the following words :

(i) nsork

(ii) fdly;%A 1

¼m½ v/kksfyf[kr;ks% in;ks% foykseins ys[;s&

fuEufyf[kr inksa ds foykse 'kCn fyf[k, %

Write the antonyms of the following words : 1

(i) forr%

(ii) vkØkefUrA

¼Å½ d% da dFk;fr\

dkSu fdldks dg jgk gS \

Who is saying this to whom ?

(i) ^'kdqUrykgsrksoZuLifrH;% dqlqekU;kgjrA*

(ii) ^vgks! vink o;e~! ukfLr es r=k izos'k%A* 2

10. v/kksfyf[kr;ks% ,d,d,d,d,dL; laf{kIrifjp;ks nh;rke~&

fuEufyf[kr esa ls fdlh ,d,d,d,d,d dk laf{kIr ifjp; nhft, %

Write a brief note on any one of the following :

(i) Hkr`Zgfj%

(ii) i×prU=ke~A 5
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[k.M% ¼?k½[k.M% ¼?k½[k.M% ¼?k½[k.M% ¼?k½[k.M% ¼?k½

NUnks·yøkjk%NUnks·yøkjk%NUnks·yøkjk%NUnks·yøkjk%NUnks·yøkjk%

Nan ,oa vyøkjNan ,oa vyøkjNan ,oa vyøkjNan ,oa vyøkjNan ,oa vyøkj

Section (D)

Chhanda and Alankaras 20

11. ¼v½ iz'uku~ mÙkjr %

iz'uksa ds mÙkj nhft, %

Answer the questions :

(i) folxZ;qDr% o.kZ% y?kq%Hkofr xq#% ok\

(ii) ^t;fUr* bfr ins dks x.k%\

(iii) ^xPNrq* v=k ^x* o.kZ% y?kq% xq#% ok\

(iv) mitkfrNUnfl izfrpj.ka dfr o.kkZ%\

(v) ^jlS% #nzSf'Nék* v=k #nz'kCnsu dks·fHkizk;%\

(vi) ^u dsoya izkf.ko/kks o/kks ee* v=k fda NUn%\ 1×6=6

¼vk½ v/kksfyf[krk% ifjHkk"kk% iwj;r&

fuEufyf[kr ifjHkk"kk,¡ iwjh dhft,&

Complete the following definitions :

(i) uu e;; _________ ekfyuh _________A

(ii) L;kfnUnzotzk ;fn ___________________A 1×2=2

¼b½ v/kksfyf[krs"kq dL;fpnsdnsdnsdnsdnsdL; NUnl% mnkgj.ka fy[kr&

fuEufyf[kr esa ls fdlh ,d,d,d,d,d NUn dk mnkgj.k fyf[k,&

Illustrate any one of the following metres with an example :

vuq"Vqi~] olUrfrydk] 'kknwZyfoØhfM+re~A 2×1=2
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12. ¼v½ v/kksfyf[krk% ifjHkk"kk% iw;ZUrke~&

fuEufyf[kr ifjHkk"kk,a iwjh dhft,&

Complete the following definitions :

(i) HkosRlaHkkouksRizs{kk __________________A

(ii) f'y"VS% inSjusdkFkkZ _________________A

(iii) lkE;a okP;eoS/kE;Z _________________A

(iv) :ida :firk _____________________A 1×4=4

¼vk½ v/kksfyf[krs"kq vyøkjs"kq ,dL;,dL;,dL;,dL;,dL; mnkgj.ka fyf[kRok dkj.ka p Li"Vhdq#r&

fuEufyf[kr vyøkjksa esa ls fdlh ,d,d,d,d,d dk mnkgj.k fyf[k, rFkk dkj.k Hkh Li"V dhft,&

Illustrate with example any one of the following figures of speech and justify the
usage :

vuqizkl%] ;ede~] vFkkZUrjU;kl%A 2+1=3

¼b½ v/kksfyf[krif³~Dr"kq iz;qDrL; vyadkjL; uke fy[kr&

fuEufyf[kr iafä;ksa esa iz;qDr vyadkj dk uke fyf[k,&

Write the name of the figures of speech used in the following lines :

(i) nhif'k[kso dTtyefyua deZ m}efrA

(ii) U;k¸;kRiFk% izfopyfUr ina u /khjk%A

(iii) iqujfi f'k'kqqHkwZr% oRl% l es j?kquUnu%A 1×3=3


